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vt -xy+y? =—-{(x+y)2+3(x~y)21'%"%‘p=X+y,q=x—y,?\‘l

B FEXTIE28p=3(p" +3¢"). B T4op>0 8 pRI3GFH.

# p=3k, L ¥ke N, R28k= 33k +gY). MAXTHFE>0BEkR
3gqiedk  k=3m,me N, R28m= 27m* +q°, B 28m - 27m* =q" 20.
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600" =6(CO +CO" —2C0-CO’ 008120°)=6(C0 +CO” +CO-COY
AC

E]CO—T _5=T . 6CO =2AC, 6CO" =2BC
B #,6C0-CO’ =2ACoBC=(ZE+1—B_5)2—X52——_§—C—2=7A_§2—Z52—§EZ.
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600" =2AC +2§52ﬂ2§2 _AC -BCH=4B" +AC +BC
41 600" = AB +AC +BC —49425+4=T8. #, 00 =13
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fla)+ f(b)=a®-6a®+17a+b> —6b> +17b
=(a®+b*)-6(a* +b*)+17(a+b)
=[(a+b)*=3(a+b)ab]-6[(a+b)*~2ab]+17(a+b)
=[(a+b)*-6(a+b)*+17(a+b)]-3ab[(a+b)-4]
¥ [(a+b)-6(a+b)*+17(a+b)-36]-3abl(a+b)-4]1=0
[(a+b)-41[(a+b)* =2(a+Db)+9-3ab]=0
B (a+b)*—2a+b)+9-3ab=a’+b*—ab-2(a+b)+9
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» =_;.[(a~b)2+ta-2)2+(b—2).2+10]>0

Fat+b=4.





